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o Uolioen Lo AMW\Q.V. diakrluinviks /T\.mm. dmve,QDT.Tm n°4,5, 6,14 | n°7,15, 16
. MM%MMMMUMWWM n°8,9 | n°10,17
b WMWWMMTMWWM n° 11, 18
mewwm%&w n° 12,19
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S M) implifior ow riduine wne exprasaion. i

MW(NW)MWWWW@WMW&MW

Eaomplle - Lo foumulle de Daine dum nactamgle A = £ x L comports 2 variablao: £ ok £
M:MWWW&%MWW%W«X»W'&MWMN
Eaompllao : aimplifion fao soeprassion ci-dassous

ﬁ(} p 2 X Aé, B g —3XCX‘.+2X(5XG‘,+/|) 8 g 7XCI,X)3,+8X6X:X‘,XCL
A - 2 B - 3+ 2(5e+) g - ooy 48612
g - ooy + e

C-IERE--EFEENR
aha 1 1 1 1 11
8:40&--.

?:5xm+3x2xm—7x(6xm—3xx{*) %:5xm+3xmxm—5+3xm—mxm
?:5m+6x_7(6x_37) §:5oc+3:r.2—5+3:x:—:x,2
?:440:.—7(6@—3%) §:2x2+&n—5



bla + %) = Lo « Lb bla = &) = ha — 0%
M: deQoT\.TwJL W raduine Qo,o mornm»m\,o ci-desbous :
}K:A(xﬂj) J = He +3) }:2(3%+5) ¥ - =3z — 9)
}E:zmuuj J = 7+ 7x3 }:2x3}3,+2><5 ¥ = wx3z — xx9
b= v 24 }:6%+'1O ¥ - 32 - 9
o
o O Do ot aves B doulle disbhbuiins |

ol S : - do(jj\g_,: (a_+ '. )(C-Fo\)
Aing =oc+ad +bc + d

Fepomade : (0-+£)(5 rd)zac+ad+ic+od

MWWW%AW%_W

ﬁ:(x+3)(2+7) M = (2 « 3)« + 8) N =+ 5 =2

£:2m+oud,+3><2+3)3, M = 2exxe + 22x8 + 3 + 3x8 N = (= + 5)e + (=2)

£:2m+oud,+6+3% M = 222 4 162 + 3 4 24 N = o + xx(=2) + 5= + 5x(=2)
M= 22 4 19 + 24 N -2 - 2%+ 5 — 10

N = =2+ 3% — 10

&AMM

(o + Bla = &) = a2 = b2
(@ + Mla = &) = a2 + ax(=0) + bxa + Ix(=b) = a2 — ol + o — B2 = a2 — }2
Eaomploo -
(e + 3 — 3) = x? — 32 (200+Aj)(2a:—;3,) 12 _ p2
- x? — 9 :4@2—%2 =1 -k
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